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happyg SEEREREESEE
1 & 2 3 & HEF
spagl SPQ4T4R & (## 11 16 20 47
£ spagl SPOSYEH My 23.4% 34.0% 42.6% 100. 0%
2% (A% 22 9 11 42
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3®m {E% 19 18 7 44
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Kax HEE 52 43 38 133
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SRR IR 7.451 1 .006
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Al |B1 |Cl |A2 |B2 |C2

Al | --
Bl |.70 | --
Cl |.54 .60 |-

A2 .46 | .33 |.29 | -
B2 | .38 |.28|.23|.84 |-
C2 1.331.26 .36 .73 |.78 | --
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£:-1) 12% in total
£2-1-1) Dr. J. is interested in studying how indoor lighting can influence people's appetite. A

sample of 200 households is selected. One hundred of the homes are randomly assigned to
the warm-light condition where Dr. J. replaces all the lights with orange bulbs. In the other
100 houses, all the lights are changed to blue bulbs. After two months, Dr. J. measures the
level of appetite for the people living in the houses. Assuming that the study uses people
from different age groups, participant age would be a(n) variable in the
experiment.

(A)dependent (B) independent (C) extraneous (D) confounding  (2%)

£:-1-2) Please explain why you pick the answer above. (2%)
£:-1-3) Which kind of statistic technique would you use and why? (2%)

#:-1-4) In addition to color of light, assuming Dr. J. is also interested in how level of

brightness can influence people’s appetite. Please describe how you would design the
research by stating your research question, research design and statistic technique. (6%)

£-2) 4% in total
#£-2-1) How many groups of participants would be needed to completely counterbalance a
within-subjects experiment with three treatment conditions? (A)1(B)3(C)6 (D)9 (2%)

%£:-2-2) Please explain why you pick the answer above. (2%)

£:-3) 9% in total
£:-3-1) The ABAB single-subject research design is inappropriate to use (A) for a treatment

that has a permanent effect. (B) for a treatment that does not change behavior when it is
withdrawn. (C) for a treatment that changes behavior gradually over time and has a long

lasting effect. (D) the other three choices are all examples of inappropriate use of an ABAB
design. (2%)

£:-3-2) Please explain why you pick the answer. (2%)

£:-3-3) How would you redesign the single-subject research to prevent the problem(s)?(5%)
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